LHB -,

HZSMAEM

LHB-01AS/03AS/04AS/05AS

AELMEEFEEEN, MEREMHERIRM,

S iR, BEENE. B2E(NO - NC)RERY

31

2EER .
WA RAEMH BT R A S k2R
(1RPRLHB-04AS - 05AS)
ELELARIRY = RN (R . 12(E

HAREIET FBREGRR),.
(FERESYMAEEIE (NSFH1) .

BSERAE
oo e LHB-01AS

B RT ERSERHE &R

R LHB - 01AS - E18S2 - NO

LHB-04AS

EREREE
= ics ' 8 ics ' &R ics ! B
01AS E18 ' FAMS3T [E24 * AMS2T NO ' EF
03AS E18L | A3 |E24L % AMS2T NC | EA
04AS E19 | Fmaol [E25 * Amst PD1_BRHEEEEE
05AS E19L @ A2 |E25L *1 ARlE 7 BB

ET3 *' Zfh=3its [E40 ' T3y
ET3L *| T3ty |[E40L *| ThtSa3ts
ER3 1 A3 [E41 %1 Mo
ER3L *' A3t [E41L *1 TS

ET2 * ZMm2 [S1 | fEREA
ET2L . Efts2ns [S2 | fEEgg2q

ER2 1 Ffhsions .

ER2L *' TR # {XPRLHB-04AS - 05AS

]

T LHB-01AS LHB-03AS LHB-04AS LHB-05AS
IREHR 0.2~0.7MPa (NONCHIt&40.35~0.7MPa) | Z%50.1~0.7MPa (NO. NC#i#&#0.25~0.7Mpa )
g FiEiek1SEF(ISOVG32)

RIRRE (°0) 5~60

a7 (mm) 4 6 10 14
SHERE (mm) @10 @16 ®20 @25
REMERE (mm) @6 @8 @10 @12
AEBRREE]  (m3 k) 0.3 1.4 2.8 6.1
EERE (mm) +0.01

TEERE (kg) 0.056 | 0.132 | 0.248 | 0.448

REREIEE . SHRETHIIE

WiFiE (RIEM JEAR

wganesss

J -
=
— i H
7 T ",
5
900065
EEHFIE
No. & iR # B | No. & iR # & | No. E= # &
1 | &% ] 8 | = THER | 15 | SEEH2
2 [FEEA THER | 9 |E4R REFERH | 16 | LA CHAEEE TEER
3 |iEEB MW | 10 | &5 51 17 | EFeesE TER
4 |¥%E MW | 11 | IRxshil MR | 18 | B
5 |E&SH 12 | iEREE 19 |iPE TR
6 |H=E Bifs 13 | iBEFES 20 | BHEE TER
7| EHEESH TERW | 14 | SEIERE 1
#1;: LHB-01ASEH
WEHHFIR
No. LHB-01AS LHB-03AS LHB-04AS LHB-05AS
12 PSD-10 PSD-16 PSD-20 PSD-25
13 MYA-6 MYA-8 MYA-10 MYA-12
14 ©8Xp1 @14Xp1 @18Xp1 ©22.3X¢p1.02
15 58 514 518 P-21
TERE £
WEEH
RIS E I (MPa) TR
JRETCK: € Fxd B2 4F T M
JRTTE R l ale |
FHRISE (=) ---oo-- -
KABE (=) ———— ::
HLHB-01AS HLHB-03AS HLHB-04AS HLHB-0O5AS
50 == 160 240 320
a5 \g-;mzﬁ 1| O TIRE 2 ormpar 280 === =nen A
i a = cee O
Bujatomed | Bl 0| B e osiesn % 0| ole. 02
A3 0.5MPaif) 73 80| 0.7MPaiE o, . B 20| T : 73 160 |0.7mPaiz A
N 25 - 03uPaFE N 60 .“_____a__ _/oggnpnil’;?ﬁ N o L A N 120 "--a\l ----- S
2 <L 20 S0 aVPaiT 0.3MPayt
i S 60 80 -
10 SN OSWEak 20 | 0.3MPajF| 30 0.3MPaid] 40 O3MEak

0
123456780910
T (cm)

0
12345678910
T (cm)

123456780910

T4 (cm)

0
12345678910
T4 (cm)

32



LH B =5 BZ&SHEM LHB-01AS/03AS/04AS/05AS

JMAZEl SHECADHIE., HAEBEN

BLHB-01AS (gisa%#5 10N~25N) BLHB-04AS (=sizaxish 50N~90N)

L LHB-01AS #5:f *NO°NC : LHB-O1AS-E[ S[] LHB-04AS f#r5ift ‘NO°NC : LHB-04AS-E[ |S[ |
19 : 23 :
M3x0.5 |9 Sl E Wsx0.8 | g 95 : %@ = @
= :1 e : F, ‘\1 — MT . ¢ b4 mowo | e
:Iizzd X L‘°4\ E 2177 G °§I s ot
. 2x 2-M2.5x0.45 &7 © W5 0.5 Ix2-wax0.7 BA S @—B:l
: 18 2-M5%0.8  F7 84.8 :
. ® 21302 / ®10 29 : ‘ S © J:l
. = I .
¢ 1199 1x2 . *3 \LJ'LJ'I:: . ¢ & b . _Lﬂ EIB(L-E19(L)
SHAER | : : (- ”
T N o % . N .
1) RISE o 2l . ﬁ
} TR o —
o N
- ol i 2% 2-N5x 0.8 10 : 2 2
5 ; : :H: 0 7. 5=0.02 Xﬂ'g{gé@%ﬁn : ET2(L) -ET3(L) E4O(L) -E41 (L)
w3 = FEp2 6BAL o = N AT 2 . eseseesscssscssccsscssccssccsac
X RAERERRS -—-1 2-M5x 0.8 iF8
T fERERL 2-M3x 0.5 %6 ras
- <ER gesl
- 3 | T &

BLHB-0O3AS (2i&a%i5/1 40ON~70N) BLHB-0O5AS (=i&a%i5 80N~130N)

LHB-03AS #Fi *NO*NC LHB-03AS-E[ |S[ ] LHB-05AS f#r5ift ‘NO°NC + LHB-O5AS-E[ |S[ |
19 : 22 :
. = 24 12.6 N 4 &
M5x0.8 L5 . W5x0.8 [B T . #}'@ :’;ﬁ;{@
7 T : ] o N s e
) | [y °:?°-® . ]7% | GEI : hs_;J ! 12 e
e 5 : 2 ! opl : »T
2x2-M3x 0.5 @A o i = [ e o
M5x0.8 : L6, W5 x 0.8 2% 2-M5x 0.8 MBI .
AL 67.3 . ” EED - .
<15, ?;?347”'7 25 . 2-M6x 1.0 102.7 : l ® ‘?J:I
0 o R i : e R12 30 I }
S 118 b - P TR TR 02687 _ e 1
R2 4 o~ A4 Y Sl =
JIEDL S el A BB % Pl =g
N EE . IR ol E e
Lo )A“ é Sl - J gu © | ™ K= " ET2(0)-ET3(L) E4O(L) E41 ()
N = B[ .
ol = g v .
$ 3905 2% 2-M4x 0.7 RS %% %ﬁ—l /ﬁ ................................
#3 6.5 Afes d B e e 2x2WEx 1 0 FI2
X TRAEAL LSRR 647 HZEp5. BT
FAERE 2-M4x 0.7 W ok wam il 365 sk i o0
30 w5 FeIERET,
g
© & © NL —] Eéw
= B — —

33 34



LHB

o o
o w - (=]
I = S|4 S| x| o oQ g S |2 ©
I 5 35 I = T 3 = Iz I 2 Q

MEMO

MEMO

& © © =1

5 w w = 5 0 ro)
= @ 2 =] ] = 9 < @ o9 g S = o
7 pur T a T T T T = 2 WH x T



